Converting Between m and km (A)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!5'_a_s_e
5 & 8 g ig § £ 5 2
= £ T 2 5: 195 8 E = &
: : - : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1:0: 2 3 4 -5 -6 -7 8 9

. Convert 1 700 000 m to km

Convert 8.24 km to m

Convert 0.01118 km to m

Convert 8 063 000 m to km

Convert 410 m to km

Convert 0.162km to m

Convert 2 700 000 m to km

Convert 1.78 km to m

Convert 4 720 000 m to km

Convert 23.5km to m
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Converting Between m and km (A) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ! — o
5 o ° 3 §i ig EE g s
"Bh S 2 & w' 15 8 E £ &
: : - : : —» X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1505—1 2 3 4 -5 -6 -7 -8 -9

. Convert 1 700 000 m to km

1700000m = 10 +- 10 = 10 = 1700 km
Convert 8.24 km to m

8.24km X 10 X 10 X 10 = 8240 m
Convert 0.01118 km to m
0.01118km X 10 X 10 X 10 = 11.18 m
Convert 8 063 000 m to km

8 063 000m = 10 =10 + 10 = 8063 km
Convert 410 m to km

410m = 10+10+10 = 0.41km
Convert 0.162km to m

0.162km X 10 X 10 X 10 = 162m
Convert 2 700 000 m to km
2700000m =10 =10 = 10 = 2700 km
Convert 1.78 km to m

1.78 km X 10 X 10 X 10 = 1780 m
Convert 4 720 000 m to km
4720000m +-10+10+10 = 4720km
Convert 23.5km tom

23.5km X 10 X 10 X 10 = 23 500 m

Math-Drills.com




Converting Between m and km (B)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
: : —— : : > X
G M k h da 'd ¢ m [ n
9876543215-5)"512—345—6789
. Convert 0.00016 km to m
Convert 17 840 m to km
Convert 2 200 000 m to km
Convert 0.00063 km to m
Convert 891.3km to m
Convert 83 260 m to km
Convert 0.057 km to m
. Convert 0.638 km to m
Convert 51 850 m to km
Convert 16 090 000 m to km
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Converting Between m and km (B) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 2 e 8 8 13 2 2 S s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 0.00016 km to m

0.00016 km X 10 X 10 X 10 = 0.16 m
Convert 17 840 m to km

17840m - 10 =10+ 10 = 17.84km
Convert 2 200 000 m to km
2200000m =10 =10 =10 = 2200 km
Convert 0.00063 km to m
0.00063km X 10 X 10 X 10 = 0.63m
Convert 891.3km to m

891.3km X 10 X 10 X 10 = 891 300 m
Convert 83 260 m to km

83260m +~ 10+ 10 =10 = 83.26 km
Convert 0.057 km to m

0.057km X 10X 10X 10 = 57m
Convert 0.638 km to m

0.638km X 10 X 10 X 10 = 638 m
Convert 51 850 m to km

51850m =10+ 10+ 10 = 51.85km
Convert 16 090 000 m to km
16090 000m <~ 10 - 10 = 10 = 16 090 km
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Converting Between m and km (C)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 & 8 g ig § £ 5 2
) g T 2 S: 15 8 E g g
: : - : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 15051 2 3 4 5 -6 -7 -8 -9

. Convert 907 200 000 m to km

Convert 2.372km to m

Convert 8 620 000 m to km

Convert 5430 m to km

Convert 0.073km to m

Convert 130 000 m to km

Convert 0.0058 km to m

. Convert 0.0764 km to m

Convert 0.00014 km to m

Convert 24 000 m to km
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Converting Between m and km (C) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 2 e 8 8 13 2 2 S s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 907 200 000 m to km

907 200 000m = 10 = 10 = 10 = 907 200 km
Convert 2.372km to m

2.372km x 10 X 10 X 10 = 2372 m
Convert 8 620 000 m to km

8 620 000m = 10 =10 + 10 = 8620km
Convert 5430 m to km

5430m - 10+ 10+~ 10 = 5.43km
Convert 0.073km to m

0.073km X 10 X 10 X 10 = 73 m
Convert 130 000 m to km
130000 m =10 =10 - 10 = 130km
Convert 0.0058 km to m

0.0058km X 10 X 10 X 10 = 5.8 m

. Convert 0.0764 km to m

0.0764km x 10 X 10 X 10 = 76.4m
Convert 0.00014 km to m
0.00014km X 10X 10X 10 =0.14m

Convert 24 000 m to km
24000m =-10+-10=10 =24 km
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Converting Between m and km (D)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
lav] o : — o— o
g, 2 2 38 § 13 & 2 5 s
B S Z =2 wi: +o 8 E S S
} } } } } } T } } } } } } } } } }X
G M k h da: *d ¢ m M n
9 8 7 6 5 4 3 2 1:i0] 2 3 4 -5 6 -7 -8 -9
. Convert 0.00685km to m

Convert 8620 m to km

Convert 6.774 km to m

Convert 47 100 m to km

Convert 5.23km to m

Convert 7400 m to km

Convert 9 759 000 m to km

Convert 37 900 000 m to km

Convert 0.031 km to m

Convert 448.7 km to m
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Converting Between m and km (D) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 2 e 8 8 13 2 2 S s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 0.00685 km to m

0.00685km X 10 X 10 X 10 = 6.85m
Convert 8620 m to km

8620m - 10 - 10 - 10 = 8.62km
Convert 6.774 km to m

6.774km X 10 X 10 X 10 = 6774 m
Convert 47 100 m to km
47100m +- 10+ 10+ 10 = 47.1km
Convert 5.23km tom

5.23km X 10X 10 X 10 = 5230 m
Convert 7400 m to km

7400m - 10 +-10+-10 = 7.4km
Convert 9 759 000 m to km
9759000m =10 =10+ 10 = 9759km

Convert 37 900 000 m to km
37900 000m =10 =10 =10 = 37900 km
Convert 0.031 km to m

0.031km X 10X 10X 10 =31m

Convert 448.7 km to m
448.7km X 10 X 10 X 10 = 448 700 m
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Converting Between m and km (E)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
T o
So 3 S % Sy 18 g = 8 %
B g Z & 9, 19 8 E g g
: : ———————— : : > X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:0:-1 2 3 4 -5 -6 -7 -8 -9
. Convert 0.00728 km to m
Convert 0.013km to m
Convert 7 993 000 m to km

Convert 0.59 km to m

Convert 70.28 km to m

Convert 3 540 000 m to km

Convert 85 500 m to km

. Convert 4 456 000 m to km

Convert 2200 m to km

Convert 0.679 km to m
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Converting Between m and km (E) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!3_a_s_e
< o P — )
: : = § g1 ig gz :
& £ 2 23 13 8 E z 2
: : e : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:0:-1 2 3 4 -5 -6 -7 -8 -9
. Convert 0.00728 km to m
0.00728 km X 10 X 10 X 10 = 7.28 m
Convert 0.013km to m
0.013km x10x 10X 10 =13 m
Convert 7 993 000 m to km

7993 000m = 10 =10 = 10 = 7993 km
Convert 0.59 km to m

0.59km X 10 X 10 X 10 = 590 m
Convert 70.28 km to m

70.28 km X 10 X 10 X 10 = 70 280 m
Convert 3 540 000 m to km
3540000m =~ 10 = 10 = 10 = 3540 km
Convert 85 500 m to km

85500m =~ 10 +10 =10 = 85.5km

Convert 4 456 000 m to km
4456 000m =10 =10+ 10 = 4456 km
Convert 2200 m to km

2200m =10=-10+10=2.2km
Convert 0.679 km to m
0.679km X 10X 10X 10 = 679 m
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Converting Between m and km (F)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
: : —— : : > X
G M k h da 'd ¢ m [ n
9876543215-5)"512—345—6789
. Convert 38 530 m to km
Convert 59 000 m to km
Convert 870 000 m to km
Convert 2.96 km to m
Convert 0.077 km to m
Convert 54.99 km to m
Convert 0.04945 km to m
. Convert 0.00015 km to m
Convert 40 200 m to km
Convert 4 765 000 m to km
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Converting Between m and km (F) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 2 e 8 8 13 2 2 S s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 38 530 m to km

38 530m =~ 10 =10 = 10 = 38.53km
Convert 59 000 m to km
59000m = 10+10+10 = 59km
Convert 870 000 m to km
870000m =~ 10 +-10 =10 = 870km
Convert 2.96 km to m

2.96km X 10 X 10 X 10 = 2960 m
Convert 0.077 km to m

0.077km X 10 X 10 X 10 = 77 m
Convert 54.99 km to m

54.99km X 10 X 10 X 10 = 54 990 m
Convert 0.04945 km to m
0.04945km X 10 X 10 X 10 = 49.45m
Convert 0.00015 km to m
0.00015km X 10 X 10 X 10 = 0.15m
Convert 40 200 m to km

40200m +~ 10 - 10 = 10 = 40.2km
Convert 4 765 000 m to km
4765000m +-10+10+10 = 4765km
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Converting Between m and km (G)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
: : —— : : > X
G M k h da 'd ¢ m [ n
9876543215-5)"512—345—6789
. Convert 67 000 m to km
Convert 0.01916 km to m
Convert 54 180 m to km
Convert 0.498 km to m
Convert 7 777 000 m to km
Convert 78 500 m to km
Convert 0.3264 km to m
. Convert 99 000 m to km
Convert 0.00261 km to m
Convert 39.93km to m
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Converting Between m and km (G) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
< o . ! — o
5 2 e 8 8 13 2 2 S s
"Bh S Z =2 wi: +o 8 E £ &
: : e : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 67 000 m to km

67000m - 10+10+10 = 67km
Convert 0.01916 km to m

0.01916 km X 10 X 10 X 10 = 19.16 m
Convert 54 180 m to km

54180m =10 =10 = 10 = 54.18km
Convert 0.498 km to m

0.498 km X 10 X 10 X 10 = 498 m
Convert 7 777 000 m to km

7777 000m = 10 =10 - 10 = 7777 km
Convert 78 500 m to km

78 500m =~ 10 +-10 =10 = 78.5km
Convert 0.3264 km to m
0.3264km X 10 X 10 X 10 = 326.4m
Convert 99 000 m to km
99000m +10+10+10 =99km
Convert 0.00261 km to m
0.00261km X 10 X 10 X 10 = 2.61 m
Convert 39.93km to m

39.93km X 10 X 10 X 10 = 39930 m
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Converting Between m and km (H)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
« o . : _ o
) on o © 8 g B E 3 s
& £ T 2 8 18 8 z 3
: : ———————— : : > X
G M k h da: i1d ¢ m M n
98765432150512-345-6789
. Convert 0.00032 km to m
Convert 633 400 m to km
Convert 35.39km to m
Convert 680 000 m to km

Convert 893 300 000 m to km

Convert 508 100 m to km

Convert 0.0023 km to m

. Convert 0.0028 km to m

Convert 23 010 m to km

Convert 0.2685km to m
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Converting Between m and km (H) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 2 e 8 8 13 2 2 S s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1 E 0.-1 2 3 4 -5 -6 -7 -8 -9
. Convert 0.00032 km to m

0.00032km X 10 X 10 X 10 = 0.32m
Convert 633 400 m to km
633400m = 10 - 10 = 10 = 633.4km
Convert 35.39 km to m

35.39km X 10 X 10 X 10 = 35390 m
Convert 680 000 m to km

680 000m =~ 10 - 10 =10 = 680 km
Convert 893 300 000 m to km
893300 000m = 10 - 10 = 10 = 893 300 km
Convert 508 100 m to km

508 100 m = 10 = 10 = 10 = 508.1 km
Convert 0.0023 km to m
0.0023km X 10X 10X 10 =2.3m

. Convert 0.0028 km to m

0.0028km X 10 X 10 X 10 = 2.8 m
Convert 23 010 m to km
23010m +10+10+10 = 23.01km
Convert 0.2685 km to m
0.2685km X 10 X 10 X 10 = 268.5m
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Converting Between m and km (I)

Name: Date: Score: /10
Complete each conversion. Symbols for copying and pasting: X + 2 3.
Base
v o 2
5, % o § 8t g E = 3 s
B g Z & 9, 19 8 E g g
: : - : : —p X
G M k h da! :d ¢ m W n
9 8 7 6 5 4 3 2 1:0:-1 2 3 4 -5 -6 -7 -8 -9

10.

. Convert 0.08438 km to m

Convert 6 100 000 m to km

Convert 0.8816 km to m

Convert 980 000 m to km

Convert 7 750 000 m to km

Convert 17 940 m to km

Convert 0.0297 km to m

. Convert 28.02km to m

Convert 96.22km to m

Convert 28 160 000 m to km
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Converting Between m and km (I) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 2 e 8 8 13 2 2 S s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 0.08438 km to m

0.08438 km X 10 X 10 X 10 = 84.38 m
Convert 6 100 000 m to km
6100000 m = 10 =10 - 10 = 6100 km
Convert 0.8816 km to m

0.8816 km X 10 X 10 X 10 = 881.6 m
Convert 980 000 m to km

980 000m = 10 - 10 =10 = 980 km
Convert 7 750 000 m to km

7 750 000m = 10 = 10 = 10 = 7750 km
Convert 17 940 m to km

17940 m =~ 10+ 10+ 10 = 17.94km
Convert 0.0297 km to m

0.0297km X 10 X 10 X 10 = 29.7m
Convert 28.02 km to m

28.02km x 10 X 10 X 10 = 28 020 m
Convert 96.22 km to m

96.22km X 10 X 10 X 10 = 96 220 m
Convert 28 160 000 m to km
28160000 m = 10 =10 - 10 = 28 160 km
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Converting Between m and km (J)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 & 8 g ig § £ 5 2
) g T 2 S: 15 8 E g g
: : - : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 15051 2 3 4 5 -6 -7 -8 -9

. Convert 954 500 000 m to km

Convert 22.1 km to m

Convert 63 200 m to km

Convert 0.87 km to m

Convert 49 910 000 m to km

Convert 739 400 m to km

Convert 41 500 m to km

. Convert 0.92km to m

Convert 0.01395km to m

Convert 95.39km to m
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Converting Between m and km (J) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 v 2§35 i3 %% 2
B E T 2 5 135 8 E E &
: : - : : —» X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1505—1 2 3 4 5 6 -7 -8 9

. Convert 954 500 000 m to km

954 500 000 m = 10 = 10 = 10 = 954 500 km
Convert 22.1 km tom

22.1km X 10 X 10 X 10 = 22 100 m
Convert 63 200 m to km

63200m =~ 10+10+10 = 63.2km
Convert 0.87 km to m

0.87km X 10X 10 X 10 = 870m
Convert 49 910 000 m to km
49910000m - 10 +10+10 =49 910km
Convert 739 400 m to km

739400m = 10 =10 = 10 = 739.4km
Convert 41 500 m to km

41500m +~ 10+ 10+ 10 = 41.5km
Convert 0.92km to m

0.92km X 10X 10 X 10 = 920 m
Convert 0.01395km to m

0.01395km X 10 X 10 X 10 = 13.95m
Convert 95.39 km to m

95.39km X 10 X 10 X 10 = 95 390 m

Math-Drills.com




	studentA: 
	dateA: 
	scoreA: 
	A1: 
	A2: 
	A3: 
	A4: 
	A5: 
	A6: 
	A7: 
	A8: 
	A9: 
	A10: 
	studentAA: 
	dateAA: 
	scoreAA: 
	studentB: 
	dateB: 
	scoreB: 
	B1: 
	B2: 
	B3: 
	B4: 
	B5: 
	B6: 
	B7: 
	B8: 
	B9: 
	B10: 
	studentBB: 
	dateBB: 
	scoreBB: 
	studentC: 
	dateC: 
	scoreC: 
	C1: 
	C2: 
	C3: 
	C4: 
	C5: 
	C6: 
	C7: 
	C8: 
	C9: 
	C10: 
	studentCC: 
	dateCC: 
	scoreCC: 
	studentD: 
	dateD: 
	scoreD: 
	D1: 
	D2: 
	D3: 
	D4: 
	D5: 
	D6: 
	D7: 
	D8: 
	D9: 
	D10: 
	studentDD: 
	dateDD: 
	scoreDD: 
	studentE: 
	dateE: 
	scoreE: 
	E1: 
	E2: 
	E3: 
	E4: 
	E5: 
	E6: 
	E7: 
	E8: 
	E9: 
	E10: 
	studentEE: 
	dateEE: 
	scoreEE: 
	studentF: 
	dateF: 
	scoreF: 
	F1: 
	F2: 
	F3: 
	F4: 
	F5: 
	F6: 
	F7: 
	F8: 
	F9: 
	F10: 
	studentFF: 
	dateFF: 
	scoreFF: 
	studentG: 
	dateG: 
	scoreG: 
	G1: 
	G2: 
	G3: 
	G4: 
	G5: 
	G6: 
	G7: 
	G8: 
	G9: 
	G10: 
	studentGG: 
	dateGG: 
	scoreGG: 
	studentH: 
	dateH: 
	scoreH: 
	H1: 
	H2: 
	H3: 
	H4: 
	H5: 
	H6: 
	H7: 
	H8: 
	H9: 
	H10: 
	studentHH: 
	dateHH: 
	scoreHH: 
	studentI: 
	dateI: 
	scoreI: 
	I1: 
	I2: 
	I3: 
	I4: 
	I5: 
	I6: 
	I7: 
	I8: 
	I9: 
	I10: 
	studentII: 
	dateII: 
	scoreII: 
	studentJ: 
	dateJ: 
	scoreJ: 
	J1: 
	J2: 
	J3: 
	J4: 
	J5: 
	J6: 
	J7: 
	J8: 
	J9: 
	J10: 
	studentJJ: 
	dateJJ: 
	scoreJJ: 


